
LIST OF SURPLUS ITEMS FOR RCF:FUR

Sr PL No. Description Unit Stock AAC Stock Value LI/LR-DT WD /
DP

1 23983100 AL CONDUIT 40MM THREADABLE QUALITY
DESIGNATION-634

MTR 4485.38 785427 02-JUN-23 03/80

2 30710558 CLAMP (HALF PIPE 25MM) Nos. 66632 157606 09-FEB-21 03/80

3 30710662 CLAMP (3PIPE 25MM) Nos. 1450 17818 18-DEC-19 03/80

4 30717036 CLAMP Nos. 1168 5325 07-APR-17 03/80

5 30717139 CLAMP Nos. 1548 12372 13-NOV-19 03/80

6 30717231 CLAMP (2PIPE 32MM) Nos. 3434 18865 01-APR-23 03/80

7 30717334 EARTHING LUG Nos. 520 46004 20-DEC-19 03/80

8 30986436 CLAMP (HALF PIPE 50MM) Nos. 9901 62222 24-FEB-18 03/80

9 32987225 ANGLE Nos. 11119 184664 15-MAR-19 03/80

10 33594314 SECURING ARRANGEMENT FOR SECURING
SWITCH BOARD CAB

Nos. 845 3535023 06-OCT-22 03/80

11 33620386 END FITTING TO PG-16,ANNX A,TAB.A2,SNO3. Nos. 2216 678628 10-JAN-22 03/80

12 33620416 CABLE DUCT A15(H)X25(W),1M STANDARD SLOT
GREY TO C

Nos. 65 2422 04-FEB-19 03/80

13 33621068 CABLE DUCT COVER,A25,1MT STD.SLOT GREY
CAT.NO.CCA2

MTR 1909 27856 13-NOV-20 03/80

14 33622620 TUBE CLAMP TO PG16,ANNX A,TAB A8,SN3. Nos. 81482 2454690 12-JAN-22 03/80

15 33622632 END FITTING TO PG-16,ANNX A,TAB.A4,SNO3. Nos. 122 44246 09-OCT-09 03/80

16 33622899 END FITTING TO PG-16,ANNX A,TAB.A2,SNO3. Nos. 11393 3176431 12-JAN-22 03/80

17 33635195 GPS BASED PASSANGER INFORMATION SYSTEM
FOR LHB AC

Nos. 3 410640 01-JUL-19 03/80

18 33635419 DISTRIBUTION PANEL FOR PANTRY EQUIPMENTS Nos. 32 185131 20-JAN-20 03/80

19 33635560 CONTROL PANEL FOR ROOF MOUNTED
RADIATOR FAN MOTORS

Set 7 254632 08-AUG-19 03/80

20 33635717 KVA ,750V/415V,3 PHASE DRY TYPE
DISTRIBUTION

Nos. 10 85 448400 25-JAN-23 03/80

21 33640294 DOUBLE INLET CENTRIFUGAL BLOWER,230V,1-
PHASE,50HZ,

Nos. 60 670600 25-APR-17 03/80

22 33640300 PA SYSTEM FOR LHB CHAIR CAR COACHES Set 58 2382629 16-DEC-22 03/80

23 33640725 SINGLE SWITCH FOR HOT BUFFET Nos. 458 144328 24-AUG-22 03/80

24 33641122 TWIN SWITCH 6AMP/250V AC Set 257 123277 27-AUG-22 03/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

1 of 28 02-08-2025, 09:28



25 33641596 CONTROL PANEL FOR VENTILATOR FANS OF
DIESEL ENGINE

Set 21 835665 02-NOV-19 03/80

26 33641894 POLYMIDE FLEXIBLE CONDUIT OF PG-29,ANNX-
A,TABLE-A

MTR 72986 14106063 12-JAN-22 03/80

27 33642059 SWITCH BOARD CABINET FOR LHB EOG
COACHES.(HOG COMP

Nos. 1 269040 10-DEC-21 03/80

28 33642140 READING LIGHT FITTING (LOGITUDINAL BERTH-
LH)

Nos. 176 175897 05-DEC-17 03/80

29 33642620 PLUG AND SOCKET DISTRIBUTION BOX FOR
HUMSAFAR AC C

Nos. 165 1003117 14-SEP-18 03/80

30 33642709 EARTHING LUG M10 Nos. 416 29544 20-JAN-20 03/80

31 33642898 SET OF READYMADE ALUMINIUM FEEDER PIPES
AND ACCES

Set 1 32700 11-NOV-21 03/80

32 33650111 CONNECTION BOX Nos. 30 102027 22-APR-06 03/80

33 33650500 CONNECTION BOX Nos. 2076 1684028 30-JAN-20 03/80

34 33650792 INSULATION MAT
2MM(T)X1000MM(W),LENGTH=3MTRS,COLOR

Nos. 21 29736 30-OCT-20 03/80

35 33650809 INSULATION MAT 2MM(T)X1000MM
(W),LENGTH=2 MTRS, CO

Nos. 256 246057 08-FEB-22 03/80

36 33682215 SET OF INFOTAINMENT SYSTEM ALONGWITH PIS
AND LED D

Set 2 4669981 15-OCT-18 03/80

37 35980096 CLAMP Nos. 4448 32055 16-DEC-19 03/80

38 37982412 CLAMP (2PIPE 50MM) Nos. 7519 28532 23-MAR-18 03/80

39 37982436 CLAMP (3PIPE 50MM) Nos. 5102 85714 26-APR-18 03/80

40 37982450 CLAMP (HALF PIPE 40MM DIA) Nos. 30029 112978 01-AUG-18 03/80

41 37982485 CLAMP Nos. 5329 6565 18-DEC-19 03/80

42 40300080 DRY CELL 1.5 VOLTS R-20 UM-1P
(MULTIPURPOSE)

Nos. 4801 32937 03-JUN-14 03/80

43 41112404 PVC SLEEVE 16MM ID BLUE MTR 45652 106437 12-DEC-19 03/80

44 41112441 PVC SLEEVE 10MM ID YELLOW MTR 6764 9830 16-JAN-18 03/80

45 41112532 PVC SLEEVE 16MM ID RED MTR 1500 19470 03-AUG-21 03/80

46 41980074 PVC SLEEVE 10MM ID BLACK MTR 1620 13381 03-AUG-21 03/80

47 42010068 5PIN PANEL MOUNTED SOCKET RATED 30A,415V Nos. 137 71079 20-MAR-20 03/80

48 42029235 *MCB SINGLE POLE WITH NEUTRAL(SPN) 20
AMPS 240V AC

Nos. 100 13000 22-MAY-23 03/80

49 42073054 COPPER STRIP 1X35X185 Nos. 710 33895 30-MAR-18 03/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

2 of 28 02-08-2025, 09:28



50 42118074 HPSV LAMPS 70 WATT (E) MAKE-
BAJAJ,CG,PHILIPS ONLY

Nos. 625 96415 06-JUN-18 03/80

51 42118499 HPSV LAMP 400 WATT MAKE-BAJAJ,CG,PHILIPS
ONLY

Nos. 196 315215 27-APR-16 03/80

52 42119534 LPSV LAMPS 50X35 WATT Nos. 99 146457 10-AUG-16 03/80

53 42119546 TUBULAR FLORESCENT LAMP 40 WATT Nos. 2082 56296 21-MAR-17 03/80

54 42311196 AL CONDUIT 32MM THREADABLE QUALITY
DESIGNATION 634

MTR 5906 836375 01-APR-23 03/80

55 42311202 AL COUPLER 40MM OF THREADABLE QUALITY TO
DESIGNATI

Nos. 1936 43702 30-JAN-20 03/80

56 42311238 COUPLER 32MM (INTERNALLY SCREWED) HOT
DIP GALVD.

Nos. 1307 22174 14-JAN-19 03/80

57 42315785 COUPLER 50MM (INTERNALLY SCREWED) HOT
DIP GALVD.

Nos. 4110 126587 10-AUG-16 03/80

58 42317230 AL CONDUIT 50MM THREADABLE QUALITY
DESIGNATION 634

MTR 149.82 35776 12-MAR-18 03/80

59 42318956 COUPLER 40MM (INTERNALLY SCREWED) HOT
DIP GALVD.

Nos. 1495 36965 09-MAY-23 03/80

60 42319109 INTERNALLY SCREWED BUSH DIA 32MM Nos. 13966 209696 16-JAN-21 03/80

61 42319420 INTERNALLY SCREWED BUSH,25MM Nos. 24025 283014 20-JAN-20 03/80

62 42980331 ROTARY SWITCH AND FUSE PANEL FOR SBC Nos. 76 671227 11-FEB-22 03/80

63 42980800 TOILET OCCUPIED STATUS INDICATION LIGHT
WITH BOX C

Nos. 228 314192 04-APR-17 03/80

64 42981189 5PIN PLUG WITH INCLINE HANDLE RATED30A
415V

Nos. 1513 843126 20-MAR-20 03/80

65 42982418 PIANO TYPE SOCKET 5 PIN 6 AMPS,250 V,AC &
ISI MARK

Nos. 354 11220 22-MAY-23 03/80

66 42982560 SWITCH PANEL Nos. 139 71635 15-DEC-18 03/80

67 42982674 *MCB SINGLE POLE (SP)40 AMPS 240V AC 50
HZ,ISI MAR

Nos. 1000 71000 14-MAY-22 03/80

68 42982730 FUSE CUM ROTORY SWITCH PANEL Nos. 29 170049 26-JUN-18 03/80

69 42982753 TOGGLE SWITCH ASSEMBLY (SINGLE) Nos. 1580 97881 21-MAR-17 03/80

70 42982765 TOGGLE SWITCH ASSEMBLY (DOUBLE) Nos. 1560 144144 21-MAR-17 03/80

71 42982777 FUSE CUM ROTORY SWITCH PANEL ALONGWITH
FDB'S COMPL

Nos. 8 80896 16-OCT-17 03/80

72 42983411 HIGH PRESSURE METAL HALIDE LAMP 400 WATT. Nos. 186 108192 27-MAR-18 03/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

3 of 28 02-08-2025, 09:28



73 42989280 RIGID PVC CONDUIT DIA 32MM,GREY COLOUR
FIRE RETARD

MTR 19810 400306 21-DEC-16 03/80

74 45318750 INTERNALLY SCREWED BUSH,40MM Nos. 10340 192828 01-FEB-20 03/80

75 45906350 LED LIGHT FITTING FOR MEMU (DMC/TC) TYPE
COACHES (

Nos. 415 1577661 04-JAN-22 03/80

76 45973076 RUBBER PACKING FOR FAN Nos. 2799 46866 12-FEB-20 03/80

77 45975814 FRP SMC MOULDED FUSE DISTRIBUTION BOX
WITH COVER

Nos. 17 6462 17-DEC-18 03/80

78 45980081 EARTHING LUG Nos. 170 14035 10-DEC-19 03/80

79 45980731 INTERNALLY SCREWED BUSH DIA 50MM Nos. 8465 198653 30-APR-18 03/80

80 45980925 ADAPTER PLATE FOR 3PHASE MEMU COACHES. Nos. 150 81743 30-JAN-20 03/80

81 45980937 EARTHING BLOCK FOR MEDHA ELECTRICS Nos. 9984 694687 19-MAR-20 03/80

82 45981048 RUBBER GROMMET WITH DIMENSION A=25.4
E=1.9

Nos. 5280 36770 02-JUN-22 03/80

83 45981139 EARTHING BLOCK FOR 3PHASE MEMU COACHES Nos. 11902 415291 23-DEC-21 03/80

84 45982387 ELCB DISTRIBUTION BOARD Nos. 40 275201 21-JUN-18 03/80

85 45985376 JUNCTION BOX Nos. 1133 526899 21-JUL-17 03/80

86 47981052 ELECTRONIC 3 LEAD IGNITOR 240 VOLT,50 HZ
MAKE-BAJA

Nos. 41 3362 23-MAR-18 03/80

87 66980021 HEAVY DUTY COPPER WOUND BALLAST 400
WATT FOR 400 W

Nos. 92 112902 16-JAN-18 03/80

88 66982560 HEAVY DUTY COPPER WOUND POLYSTER
BALLAST-70W SUIT

Nos. 710 290937 23-MAR-18 03/80

89 75040669 RUBBER GROMMET TO DIMENSSION A=16 E=1.6 Nos. 1544 7288 06-DEC-18 03/80

90 75981567 RUBBER GROMMET WITH DIMENSIONS A=19
AND E=3.9MM

Nos. 4980 20133 05-MAY-17 03/80

91 30627084 LONGITUDINAL LUGGAGE RACK Nos. 24 121554 18-APR-22 05/80

92 30627096 LONGITUDINAL LUGGAGE RACK FOR MEMUT
COACHES

Nos. 171 1116259 09-MAR-22 05/80

93 31983200 SET OF TRANSVERSE LUGGAGE RACK COMPLETE
(ONE SET C

Set 37 4292000 07-OCT-21 05/80

94 33535048 HARD PVC FOAM SHEET TO SIZE
12X1200X2400MM

Nos. 44 142498 10-FEB-22 05/80

95 33535164 HARD PVC FOAM SHEET TO SIZE
25X1200X2400MM

Nos. 17.4 109724 14-JUL-06 05/80

96 33590023 FOLDING BERTH COMPLETE FOR LHB POWER
CAR

Nos. 4 67732 19-APR-21 05/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

4 of 28 02-08-2025, 09:28



97 33594041 SET OF SEAT AND BERTH FOR AC 2-TIER AREA
FOR LHB C

Set 2 852091 04-MAR-22 05/80

98 33600028 SEAT AND BERTH SET FOR
LWACCW.UPHOLSTERY TO RDSO/2

Set 2 1198800 02-APR-22 05/80

99 33600077 MAGAZINE BAG,NYLONE NET COLOER SHADE
SHOULD MATCH

Nos. 343 47889 18-MAY-19 05/80

100 33600375 SET OF SEAT & BERTHS FOR FAC AREA FOR
LFCWAC COACH

Set 4 975624 20-FEB-21 05/80

101 33600430 TRANSVERSE UPPER BERTH, UPHOLSTERY TO
RDSO SPEC. #

Nos. 60 703752 07-APR-22 05/80

102 33600480 SET OF LUGG. RACK ARRANGEMENT FOR STORE
ROOM FOR L

Set 22 545945 30-SEP-13 05/80

103 33601150 SEAT AND BERTH SET FOR LWACCN
COACH.UPHOLSTRY TO R

Set 6 6344366 12-MAY-22 05/80

104 33601252 SET OF SEATS & BERTHS FOR LHB SLR HOG
COACHES,CUSH

Set 3 743000 07-AUG-21 05/80

105 37982102 HEX HEAD BOLT M6X20 STAINLESS STEEL Nos. 24600 37941 10-OCT-18 05/80

106 73040848 HEX HEAD BOLT M10X50 HIGH TENSILE Nos. 1188 8691 06-SEP-22 05/80

107 73190317 HEX HEAD SCREW M16X25 HIGH TENSILE Nos. 270 4777 05-FEB-20 05/80

108 73532060 CSK HD SCREW M10X60 STAINLESS STEEL Nos. 1942 17530 25-OCT-17 05/80

109 73577856 CSK HD SCREW M10X80 COATING AS PER
MDTS-057

Nos. 6914 40793 19-FEB-18 05/80

110 73818392 HEX HEAD BOLT M20X130 HIGH TENSTILE Nos. 5120 290626 25-MAY-22 05/80

111 73832650 HEX NUT M 8 HIGH TENSILE Nos. 12737 14335 14-FEB-19 05/80

112 73980389 HEX HEAD BOLT M20X190-N HIGH TENSILE Nos. 2402 178419 05-MAR-18 05/80

113 73980780 PAN HD TAPPING SCREW ST 4.2X25-C STAINLESS
STEEL

Nos. 977573 726592 11-SEP-18 05/80

114 73981461 CSK HD TAPPING SCREW ST 4.8X38-C STAINLESS
STEEL

Nos. 569350 975265 16-JAN-20 05/80

115 75320368 FLEXIBLE PU FOAM 25X3500X4800MM SQM 26.71 9197 20-JUN-11 05/80

116 30640430 NOTICE FOR LONGITUDINAL MIDDLE BERTH Nos. 3667 655953 10-AUG-09 06/80

117 33660256 PU PAINTS FOR LAVATORY PARTITION WALL,
COLOUR SHAD

Set 51 253437 21-JUL-07 06/80

118 33660440 PU BASED ANTI-GRAFFITI PAINT SHADE
RAL-9006 FOR CH

Set 168 77162 07-SEP-16 06/80

119 33660669 FLEET GRAPHIC FILM FOR EXTERIOR OF
HUMSAFAR COACHE

Nos. 23 5848861 27-APR-20 06/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

5 of 28 02-08-2025, 09:28



120 33660712 FLEET GRAPHIC FILM FOR EXTERIOR OF
ANTODAYA COACHE

Nos. 1 382320 30-MAY-20 06/80

121 35982100 ADHESIVE U-BOND 301 OF M/S JAYANTILAL J
GANDHI CHE

Kgs. 335 300920 19-DEC-14 06/80

122 35982159 ADHESIVE ARALDITE AW2101 OR PERMABOND
E32 TWO PART

Nos. 497 501363 24-JUN-15 06/80

123 65985308 BRUSH FLAT LONG HANDLE CURVED SIZE 50 MM Nos. 289 43199 05-MAR-18 06/80

124 75324829 SHEET MOULDING COMPOUND OF COLOUR
SMOKE GREY FOR W

Kgs. 750 96937 25-OCT-10 06/80

125 75614017 POLYMERISED FLOOR TOPPING COMPOUND FOR
SLR & VP CO

Set 5 106260 11-AUG-17 06/80

126 77030448 INSECTICIDAL PAINT Kgs. 446 248436 01-AUG-09 06/80

127 77030606 PU PAINTS FOR CONVENTIONAL COACHES
(WITHOUT ALUMIN

Set 5 214200 23-APR-14 06/80

128 77030886 PU PAINTS FOR MEMU DRIVER MOTOR COACHES Set 2 80190 28-JAN-12 06/80

129 77070057 FLEET GRAPHIC FILM FOR EXTERIOR OF
HUMSAFAR COACHE

Nos. 3 506319 06-NOV-17 06/80

130 77115557 WOOD PERSERVATIVE PENTAPHINE LTR 2640 68059 23-DEC-99 06/80

131 77980610 PU PAINTS FOR MEMU TRAILER COACHES Set 31 1115854 30-JUL-20 06/80

132 77986106 PU PAINTS FOR MG, RA AND SSC COACHES Set 18 993377 05-JUL-12 06/80

133 81906006 CHEMICAL - ACCILENE - 44 Kgs. 867 21675 15-FEB-00 06/80

134 81980346 COLD PHOSPHATING SOLUTION (4X1) LTR 1900 90896 07-JUL-06 06/80

135 84130799 ARALDITE/FEVITITE 180 GM PACK Kgs. 31.5 19906 28-OCT-14 06/80

136 84400016 CYNOACRYLATE ADHESIVE IN 10gm PACK Nos. 50 1583 24-FEB-14 06/80

137 84980060 GLASSWOOL 30X1200X1200MM,AL.FOIL BACK SQM 42.9 34046 12-DEC-17 06/80

138 91906018 CHEMICAL - RUSTODINE 62-170 LTR 3745 105285 07-JUL-06 06/80

139 30438391 FLAP ASSEMBLY L.H. FOR WATER TANK (LP
SHADE NAC-SP

Nos. 230 154971 15-FEB-18 09/80

140 30631075 SET OF WATER TANK FLAPS FOR MEMUTL
COACHES

Set 12 71232 31-MAR-21 09/80

141 33530051 ALUMINIUM FLEXIBLE DUCTING PIPE
RECTANGULAR 104X30

MTR 309 866218 23-JUN-21 09/80

142 33530166 HPL SHEET 4X1220X2440MM, COLOR & SURFACE
FINISH TO

Nos. 325 690300 03-NOV-22 09/80

143 33530208 HPL SHEET 1.2X1220X2440MM, COLOR &
SURFACE FINISH

Nos. 397 429786 12-AUG-22 09/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

6 of 28 02-08-2025, 09:28



144 33530312 HPL SHEET 1.2X1220X2440MM, COLOR &
SURFACE FINISH

Nos. 284 277644 10-MAY-16 09/80

145 33530440 SUPPLY AND APPLICATION OF COMPREG
PLYWOOD 12X1220X

Nos. 317 766886 27-SEP-21 09/80

146 33535190 CORK PACKING 4X20MM SQM 727 226824 03-SEP-09 09/80

147 33535310 SCRAPPER MATTING, PRODUCT 9100 OF M/S. 3M
OR EQUIV

Nos. 108 699300 16-MAR-19 09/80

148 33540019 HPL SHEET 1.2X1220X2440MM COLOUR SHADE
RAL DS 070-

Nos. 905 760344 10-MAY-22 09/80

149 33540032 HPL SHEET 1.2X1220X2440MM COLOUR SHADE
RAL DS 9000

Nos. 30 25205 19-JUN-23 09/80

150 33540056 HPL SHEET 1.2X1220X2440MM COLOUR SHADE
RAL DS 030-

Nos. 140 117622 10-SEP-20 09/80

151 33540068 HPL SHEET 4X1220X2440MM COLOUR SHADE
RAL DS 030-40

Nos. 230 474853 03-JAN-20 09/80

152 33574273 HONEYCOMB PARTITION FRAME SET FOR AC
(1+2) LHB COA

Set 1 200397 01-JUL-21 09/80

153 75327820 CORK PACKING 2X50MM SQM 3710.85 660987 12-AUG-17 09/80

154 77030643 MASKING ARRGT-AC (ONE SET=SK 01-16NOS,SK
02-8NOS &

Set 17 497839 11-JUN-19 09/80

155 77030655 MASKING ARRGT.-NON AC (ONE SET=46 NOS
EACH OF SKET

Set 16 482835 18-MAY-19 09/80

156 93501523 PRE-LAMINATED SHADED COMPREG
3X1220X2440MM SHADE A

Nos. 1982 3772932 01-APR-22 09/80

157 93980061 DEODAR WOOD SLEEPER SIZE 5 INCH X 10 INCH
X 10 FEE

Nos. 7 106554 30-SEP-20 09/80

158 93980279 PRE-LAMINATED SHADED COMPREG
12X641X1810MM SHADE A

Nos. 12 25061 25-OCT-17 09/80

159 93980462 PRE-LAMINATED SHADED COMPREG
3X760X1920MM SHADE AS

Nos. 2735 3786115 16-DEC-19 09/80

160 93981491 COMPREG PLYWOOD 3X1220X2440MM (BOTH
SIDE PLAIN)

Nos. 226 245193 09-MAR-22 09/80

161 30160431 COVER SHEET FOR DUCTING ARRGT.(LH) Nos. 210 340547 01-JUN-20 19/80

162 30160443 COVER SHEET FOR DUCTING ARRGT.(RH) Nos. 210 340544 01-JUN-20 19/80

163 30267018 ENTRANCE HAND RAIL Nos. 777 620809 14-MAR-22 19/80

164 30437970 SS MOULDING EQ.ANGLE (1.25X20X20) L=2M Nos. 881 195318 01-JUN-20 19/80

165 30447586 COVER SHEET L=1700 MM Nos. 2756 654081 01-JUN-20 19/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

7 of 28 02-08-2025, 09:28



166 30547325 EMERGENCY OPENABLE WINDOW FOR AC
COACHES, COLOUR S

Nos. 296 791118 12-OCT-18 19/80

167 30547544 WINDOW GLASS FOR OBSERVATION WINDOWS Nos. 146 105027 14-MAR-18 19/80

168 30610291 BEARING BRACKET COMPLETE FOR BACK REST Nos. 662 187760 29-SEP-17 19/80

169 30617698 HANDLE Nos. 1289 139086 21-DEC-19 19/80

170 30630514 FRP COVERS FOR CONCEILING LAV. FITTINGS
FOR GS COA

Set 84 204532 24-DEC-19 19/80

171 30630939 TOILET SHELF ASSLY (COLOUR SHADE RAL-1034) Nos. 240 113938 22-SEP-18 19/80

172 30640080 NOTICE FOR FIRE PREVENTION AND SAFETY Nos. 435 102312 01-JUN-20 19/80

173 30640180 INDICATION PLATE FOR EMERGENCY WINDOW
FOR AC COACH

Nos. 422 70896 22-OCT-21 19/80

174 30640350 FOLDING TABLE ARRGT. (COLOUR SHADE FOR
PRE LAMINAT

Nos. 1070 867963 12-SEP-18 19/80

175 30648142 LETTERING INSIDE FOR GS (DEEN DAYALU)
COACHES WITH

Set 34 471240 20-SEP-17 19/80

176 30648609 FRP TRAY (SHADE RAL-1034) Nos. 288 108731 20-SEP-17 19/80

177 30648646 FOLDING TABLE ARRGT(SUNK-IN-TYPE) (SHADE
AC-SP02,R

Nos. 131 100825 26-OCT-18 19/80

178 30648774 FRP COVER ASSEMBLY ( COLOUR SATIN BLUE TO
(ISC-177

Nos. 284 336119 02-SEP-15 19/80

179 30737060 AIR DIFFUSER Nos. 70 121310 12-SEP-15 19/80

180 30981372 Y-MOULDING,L=1880MM Nos. 546 138367 01-JUN-20 19/80

181 31421064 SET OF SS PANELS WITH HONEYCOMB FINISH
FOR MEMU/TC

Set 12 240710 10-FEB-20 19/80

182 31427017 ANGLE COMPLETE FOR WINDOW GUIDE FRAME Nos. 3348 327535 01-JUN-20 19/80

183 31985610 INDICATION PLATE & STICKER FOR EMERGENCY
WINDOW

Nos. 220 61600 23-SEP-19 19/80

184 32981028 AIR CONDITIONING FIL Nos. 328 231962 28-JUL-07 19/80

185 32981302 STICKER FOR EMERGENCY OPENABLE WINDOW
(WITH BRAILL

Nos. 2662 490687 30-JUL-19 19/80

186 33530129 ALUMINIUM SQUARE TUBE 20X20X2MM IM
MULTIPLE LENGTH

MTR 8577 802035 01-JUN-20 19/80

187 33535097 RUBBER HOSE 63BORE, 6MM THICK, OD-75MM
IN MULTIPLE

MTR 1834.2 479185 01-JUN-20 19/80

188 33556568 PIPE ASSEMBLY Nos. 2860 475818 19-MAR-20 19/80

189 33557147 MARKING DIAGRAM FOR LHB HOG SLRD
COACHES

Set 8 111005 16-AUG-21 19/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

8 of 28 02-08-2025, 09:28



190 33565673 GLASS FOR ENTERANCE DOOR(FOR
CONSTRUCTION OF GLASS

Nos. 252 169042 11-APR-17 19/80

191 33567219 COLLAPSIBLE DOOR (DOUBLE PANEL) WIDTH
2940MM & HEI

Nos. 241 4979704 07-MAR-23 19/80

192 33572033 PARTITION FRAME BETWEEN END WALL DOOR &
ELECT. PAN

Nos. 280 930762 21-DEC-20 19/80

193 33581320 EXTRUDED CHANNEL MOULDING L=2020 MM Kgs. 663.5 148856 12-JUN-20 19/80

194 33581629 ALUMINIUM EXTRUSION L=2350 MM Kgs. 13.2 4388 02-JAN-23 19/80

195 33581666 CHANNEL MOULDING,L=2100 MM FOR LHB
DOUBLE DECKER A

Nos. 96 37940 25-JUL-23 19/80

196 33591290 SET OF AL ITEMS FOR CEILING OF LWCBAC
COACHES

Set 26 485859 01-JUN-20 19/80

197 33593127 SET OF STAINLESS STEEL CHEQUERED SHEET
ANGLES FOR

Set 4 64206 23-OCT-20 19/80

198 33593528 COVER SHEET L=2355MM Nos. 98 292551 10-MAR-21 19/80

199 33594065 SET OF FRP COVER MOULDINGS (SHADE RAL
1034)

Set 23 375388 19-SEP-09 19/80

200 33598782 NOTICE FOR LUGGAGE CAPACITY 30 TONNES
FOR LHB PARC

Nos. 663 140372 01-FEB-23 19/80

201 33598850 BRACKET FOR LHB COACHES Nos. 144 15120 15-MAR-19 19/80

202 33598988 FRP TOP COVER FOR AC UNIT FOR LHB AC
COACHES

Nos. 269 723072 24-APR-20 19/80

203 33599002 FRP TOP COVER FOR AC 3 TIER COACHES Nos. 490 941535 09-DEC-20 19/80

204 33599300 SET OF ROOF PANELS & CORNER PANELS FOR
LHB SLR WIT

Set 1 112142 04-AUG-21 19/80

205 33599336 LAYOUT OF LETTERING INSIDE W/O BRAILLE
SCRIPT FOR

Set 70 145040 01-APR-22 19/80

206 33682537 MARKING DIAGRAM FOR LHB HIGH CAPACITY
PARCEL VAN

Set 124 1012184 23-JAN-23 19/80

207 33682562 SET OF PROTECTION FRAME AND BRACKET FOR
LHB VP CO

Set 34 1464387 16-FEB-23 19/80

208 35982007 RUBBER HOSE PIPE 100MM BORE IN LENGTH OF
800MM

MTR 490 183346 29-APR-23 19/80

209 36987270 PIPE CLIP (FOR SIDE FILLING & OVER FLOW
ARRANGEMEN

Nos. 984 14563 12-JUN-20 19/80

210 37987537 AL MOULDING EX CHANNEL (2.5X20X20X47)
L=1.8M

Nos. 533.5 120934 02-JUN-20 19/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

9 of 28 02-08-2025, 09:28



211 37987574 AL MOULDING EX Y L=1.8M Nos. 2699.83 175786 02-JUN-20 19/80

212 62170030 BRASS BIB COCK 15MM DIA Nos. 1617 1717254 09-JUN-22 19/80

213 30101360 LEVER PLATE Nos. 476 7054 23-MAR-22 22/80

214 30110300 COVER FOR SIDE BEARER HOUSING Nos. 284 154206 23-MAR-22 22/80

215 30256501 BRACKET COMPLETE FOR VESTIBULE FOOT
PLATE

Nos. 56 6531 23-MAR-22 22/80

216 30367517 CLIP Nos. 101 1301 23-MAR-22 22/80

217 30410020 DRAIN PIPE Nos. 1337 416355 23-MAR-22 22/80

218 30410034 STEP RAIL L=610 Nos. 9 3827 23-MAR-22 22/80

219 30410162 SLEEVE (FOR SINGLE SEAT FRAME) Nos. 2236 185946 23-MAR-22 22/80

220 30410381 DRAIN PIPE COMPLETE Nos. 817 139249 23-MAR-22 22/80

221 30416050 STEP RAIL R.H. Nos. 37 13986 23-MAR-22 22/80

222 30420010 LAVATORY AIR EXHAUSTER Nos. 40 42048 23-MAR-22 22/80

223 30420222 PANEL FOR SLIDING DOOR POCKET, COLOUR
SHADE MIDDLE

Nos. 610 276858 01-MAR-18 22/80

224 30437994 RUBBER PROFILE L=1835MM Nos. 505 71533 23-MAR-22 22/80

225 30438342 SAFETY WALL FOR TRANSEVERSE BERTH SIDE
(SHADE AC-S

Nos. 83 99600 01-NOV-18 22/80

226 30440245 COVER COMPLETE Nos. 1100 158015 23-MAR-22 22/80

227 30540239 HOLDING FRAME FOR SEALED LAV. WINDOW Nos. 30 10980 14-OCT-10 22/80

228 30543289 PACKING RUBBER L-270 MM Nos. 46830 125504 23-MAR-22 22/80

229 30547167 OBSERVATION WINDOW SHEET Nos. 68 19738 23-MAR-22 22/80

230 30547714 SMALL SEALED WINDOW GLASS UNIT Nos. 28 78255 20-FEB-19 22/80

231 30548044 WINDOW GLASS Nos. 87 12998 17-JAN-20 22/80

232 30548081 SEALING RUBBER PROFILE L=2598MM Nos. 125 4374 03-OCT-18 22/80

233 30549012 FIXING RUBBER PROFILE L=2598 Nos. 81 19070 03-OCT-18 22/80

234 30560036 EQUIPMENT ROOM DOOR ARRANGEMENT FOR
GUARD'S COMPAR

Nos. 32 268800 11-AUG-21 22/80

235 30560058 LAVATORY DOOR ARRGT. FOR GUARD'S
COMPARTMENT (SHAD

Nos. 128 652388 17-MAR-18 22/80

236 30560240 COMPARTMENT SLIDING DOOR (LP COLOUR TO
SUIT INTER

Nos. 24 481440 28-JAN-23 22/80

237 30560408 LAVATORY DOOR ARRGT LH (SHADE NAC-SP05-
SPEC.CK-513

Nos. 11 58390 31-MAR-21 22/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

10 of 28 02-08-2025, 09:28



238 30560410 LAVATORY DOOR ARRGT RH (SHADE NAC-SP05-
SPEC.CK-513

Nos. 4 21317 31-MAR-21 22/80

239 30567026 SLIDING DOOR ARRANGEMENT FOR ADDITIONAL
LINEN ROOM

Nos. 41 209100 26-OCT-18 22/80

240 30567282 LAVATORY DOOR ARRGT. RH (SHADE AC-
SP02,SPEC.CK-513

Nos. 4 26577 04-OCT-18 22/80

241 30567841 SWING DOOR FOR ENTRANCE TO AC AREA
(WITH OVERHEAD

Nos. 1 28188 26-JUL-23 22/80

242 30568559 LAVATORY DOOR ARRGT. L.H.(SHADE AC-
SP02,SPEC.CK-51

Nos. 4 21373 26-OCT-18 22/80

243 30568602 SLIDING DOOR ARRGT. FOR LINEN ROOM OF AC
COACHES (

Nos. 23 193200 23-OCT-17 22/80

244 30568614 CUBICAL DOOR FOR AC COACHES (SHADE AC-
SP02)

Nos. 42 220478 26-OCT-18 22/80

245 30614272 SPECIAL BOLT (FOR FIXING SEAT) Nos. 5048 107623 23-MAR-22 22/80

246 30617017 SPECIAL BOLT FOR RETURN AIR OPENINGS Nos. 791 55054 23-MAR-22 22/80

247 30617029 SPECIAL BOLT FOR SUPPLY AIR OPENING Nos. 124 7101 23-MAR-22 22/80

248 30618332 EYELET FOR MIDDLE BERTH Nos. 3220 4476 23-MAR-22 22/80

249 30618563 MIRROR ASSEMBLY COMPLETE Nos. 408 147382 23-MAR-22 22/80

250 30618940 FOOT STEP Nos. 18 9972 24-APR-18 22/80

251 30630157 SHELF FOR WASH BASIN Nos. 5 9818 23-MAR-22 22/80

252 30630721 MARKING DIAGRAM FOR SCN (84 BERTHER) Nos. 21 199224 23-MAR-22 22/80

253 30630782 MARKING DIAGRAM (LETTERING OUTSIDE) FOR
COMPOSITE(

Nos. 15 52321 06-AUG-11 22/80

254 30630794 MARKING DIAGRAM (LETTERING OUTSIDE) FOR
78 BERTHER

Nos. 57 370203 08-DEC-10 22/80

255 30633552 GRAVITY COVER FOR SIDE FILLING NOZZLE FOR
IRS COAC

Nos. 302 30907 23-MAR-22 22/80

256 30636206 WASH HAND SINK CORNER TYPE
SMALL(TRACEABILITY MARK

Nos. 207 157527 23-MAR-22 22/80

257 30636220 BRACKET (L.H.) Nos. 276 11054 23-MAR-22 22/80

258 30636231 BRACKET(R.H.) Nos. 110 4503 23-MAR-22 22/80

259 30637260 CHUTE COMPLETE Nos. 64 52861 15-MAR-19 22/80

260 30637272 CHUTE COMPLETE Nos. 64 52691 15-MAR-19 22/80

261 30637624 BRACKET FOR CLAMPING FLUSH PIPE Nos. 2388 71186 23-MAR-22 22/80

262 30637879 LAVATORY PAN FOR BIO TOILET Nos. 215 725236 23-MAR-22 22/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

11 of 28 02-08-2025, 09:28



263 30637910 CHUTE COMPLETE Nos. 75 59140 15-MAR-19 22/80

264 30637934 CHUTE COMPLETE Nos. 84 66520 15-MAR-19 22/80

265 30638628 SOAP DISH (SHADE RAL-1034) Nos. 140 13720 23-MAR-22 22/80

266 30640079 RACK IN EQUIPMENT ROOM OF GUARD'S
COMPARTMENT FOR

Nos. 23 31455 11-SEP-19 22/80

267 30640281 TRAY COMPLETE R.H. FOR RADIATER ROOM OF
POWER CAR

Nos. 1 8216 10-AUG-09 22/80

268 30640362 FOLDING TABLE ARRGT (COLOR SHADE FOR PRE
LAMINATED

Nos. 22 41140 23-MAR-22 22/80

269 30646303 PENALTY NOTICE Nos. 1655 55856 24-MAR-22 22/80

270 30647629 ALARM NAME PLATE Nos. 144 3059 23-MAR-22 22/80

271 30648099 NOTICE FOR DIRECTION INDICATOR FOR ALARM
CHAIN HAN

Nos. 826 18296 23-MAR-22 22/80

272 30648105 NOTICE FOR DIRECTION INDICATOR FOR ALARM
CHAIN HAN

Nos. 238 5355 23-MAR-22 22/80

273 30648191 NOTICE FOR DIRECTION INDICATOR FOR ALARM
CHAIN HAN

Nos. 290 6731 23-MAR-22 22/80

274 30648713 HAND RAIL COMPLETE Nos. 131 103573 23-MAR-22 22/80

275 30670445 DETAILS OF RIGID FIXING ARRGT. OF WATER
TANK (BG)

Nos. 759 38633 23-MAR-22 22/80

276 30980835 DRAIN PIPE FOR CONV. ACCN / SCN COACHES
FITTED WIT

Nos. 164 27390 28-MAR-18 22/80

277 30982832 V CLAMP FOR SUPPLY AIR OPENING Nos. 361 26344 08-AUG-18 22/80

278 30982881 V CLAMP FOR RETURN AIR OPENINGS Nos. 644 28001 08-AUG-18 22/80

279 30983204 LAYOUT OF NOTICES FOR SCN COACH (72
BERTHER) WITH

Set 36 649022 23-MAR-22 22/80

280 30983265 LAYOUT OF NOTICES FOR GSLRD COACH (WITH
BRAILLE SC

Set 26 173207 23-MAR-22 22/80

281 30984129 LAYOUT OF LETTERING INSIDE FOR AC 3-TIER
SG COACHE

Set 207 146763 23-MAR-22 22/80

282 30988342 COACH NAME PLATE FOR MEMUT3PH COACHES Nos. 376 24257 15-JUN-23 22/80

283 31510048 DOOR ASSEMBLY FOR MAIN LT FRAME Nos. 24 132181 08-FEB-20 22/80

284 31547011 WINDOW RUBBER PROFILES FOR DRIVER
MOTOR COACH

Set 13 11211 17-JAN-20 22/80

285 31647110 AIR FILTER FOR MEMU/DMC COACHES Nos. 147 139615 04-JAN-22 22/80

286 31647248 TRAP DOOR FOR TRACTION MOTOR Nos. 33 81312 18-FEB-20 22/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

12 of 28 02-08-2025, 09:28



287 31980508 EQUAL ELBOW 16X20 Nos. 104 12272 23-MAR-22 22/80

288 31981665 RUBBER PROFILE (L=3500MM) FOR MEMU3PH
COACHES

Nos. 2050 118039 23-MAR-22 22/80

289 31981677 RUBBER PROFILE (L=3350MM) FOR MEMUT3PH
COACHES

Nos. 9651 525593 23-MAR-22 22/80

290 31986092 THREADED PIPE 25 BORE BSPX429 Nos. 894 28089 23-MAR-22 22/80

291 31986370 BRACKET Nos. 1060 224092 09-JUN-22 22/80

292 31986936 PIN FOR FOOT PLATE ARRGT. Nos. 456 25618 23-MAR-22 22/80

293 31989949 ARRGT OF BERTH STOP FOR LONGITUDINAL
BERTH

Nos. 143 4390 23-MAR-22 22/80

294 33539376 SET OF SS CHEQURED SHEET (1.7MM THICK.)
FOR FLOORI

Set 8 2799432 23-MAY-22 22/80

295 33565156 LAVATORY DOOR COMPLETE (L.H.) Nos. 1 9627 07-NOV-19 22/80

296 33565466 DOOR ARRANGEMENT FOR POWER PANEL FOR
LHB AIR SPRIN

Nos. 122 407051 20-MAR-18 22/80

297 33565600 SUPPLY,INSTALLATION & COMMISSIONING OF
SET (CONSIS

Set 3 1540587 05-MAR-19 22/80

298 33565648 MOUNTING ARRGT OF SALOON AUTO-SLIDING
DOOR FOR LHB

Nos. 3 343943 28-JAN-21 22/80

299 33565879 SUPPLY, INSTALLATION & COMM. OF AUTOMATIC
VESTIB

Nos. 1 255000 21-SEP-18 22/80

300 33565922 BEARING BRACKET COMPLETE Nos. 2 3328 19-JAN-23 22/80

301 33566021 ENTRANCE DOOR ASSLY (R.H) FOR LHB NON AC
STAINLES

Nos. 25 694917 20-MAY-22 22/80

302 33566203 DOOR ARRANGEMENT (RH & LH) FOR STAINLESS
STEEL COA

Set 7 416393 30-NOV-19 22/80

303 33581824 SET OF ALUMINIUM PANEL FOR ENDWALL FOR
HIGH SPEED

Set 19 252168 27-JUN-18 22/80

304 33590102 SET OF PANTRY DOOR FOR LHB NON-AC CHAIR
CAR COACHE

Set 1 10716 05-FEB-20 22/80

305 33593218 SET OF COVER FOR BERTH PILLAR FOR LHB SCN
ASP COAC

Set 56 164950 23-MAR-22 22/80

306 33593656 SET OF SS DOOR FRAME FOR LHB AC DOUBLE
DECKER COAC

Set 1 4206 30-OCT-20 22/80

307 33593930 COVER FOR BERTH PILLAR FOR LHB GS ASP
COACHES

Nos. 900 59292 23-MAR-22 22/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

13 of 28 02-08-2025, 09:28



308 33594806 SET OF MOUNTING FRAME FOR COMPT. SWING
DOOR FOR LF

Set 12 119880 28-JAN-23 22/80

309 33595781 MOUNTING FRAME Nos. 37 103489 04-JUL-18 22/80

310 33598150 LUGGAGE RACK MOUNTING POWER CAR (HIGH
SPEED) WITH

Set 1 211323 23-MAR-22 22/80

311 33598794 SET OF AL FLOOR PLATE FOR LHB HIGH
CAPACITY PARCEL

Set 75 34229098 24-MAR-23 22/80

312 33599324 LETTERING INSIDE WITH BRAILLE SCRIPT FOR
LSLRD COA

Set 7 83928 23-MAR-22 22/80

313 33612833 NOTICE FOR LAVATORIES Nos. 456 27980 23-MAR-22 22/80

314 33612845 PIPE CLAMP Nos. 16479 319693 23-MAR-22 22/80

315 34550057 LOGO FOR MG-NAC EOG CHAIR CAR FOR MALI
RAILWAYS

Nos. 49 14727 03-FEB-09 22/80

316 35984417 MARKING DIAGRAM FOR LHB POWER CAR
COACHES OF HUMSA

Set 3 42251 09-NOV-19 22/80

317 35984429 LETTERING OUTSIDE FOR LHB POWER CAR
COACHES OF ANT

Set 1 11970 09-NOV-19 22/80

318 36980535 NOTICE FOR LAVATORY (WITH BRAILLE SCRIPT) Nos. 140 198240 24-MAR-22 22/80

319 37983568 DOOR PILLAR ON LONGITUDNAL WALL Nos. 1 4746 28-JAN-23 22/80

320 37986118 RUBBER PROFILE L=6 METER Nos. 953.5 384231 22-AUG-18 22/80

321 37989789 LOCKING ARRANGMENT FOR PORCELAIN WASH
BASIN

Nos. 190 11020 24-MAR-22 22/80

322 91985389 GLASS FOR DOG BOX SLIDING DOOR WITH SIZE
6X225X435

Nos. 30 3516 24-MAR-22 22/80

323 23981040 CLAMP Nos. 927 7362 09-JUN-18 23/80

324 23981064 CLAMP Nos. 1591 12207 13-DEC-19 23/80

325 30727182 ANNOUCIATOR AND INDICATOR COMPLETE Nos. 185 74522 04-SEP-18 23/80

326 31727219 COVER SHEET 2.5X600X785 Nos. 14 10506 14-FEB-20 23/80

327 31767059 JUNCTION BOX COMPLETE Nos. 345 202331 10-OCT-20 23/80

328 31767084 JUNCTION BOX Nos. 5 3024 10-OCT-20 23/80

329 33620118 COPPER CRIMPING SOCKET FOR 16 SQMM CABLE Nos. 5184 61712 11-JUN-22 23/80

330 33621950 HARNESS OF UNDERFRAME AND ROOF
ARRANGEMENT FOR LH

Set 1 853709 30-MAY-23 23/80

331 33622279 2.5 SQ. MM (GREY) THIN WALLED FLEX. ELAST.
CABLE W

MTR 3470 131271 15-MAY-20 23/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

14 of 28 02-08-2025, 09:28



332 33622346 HARNESS OF UNDERFRAME & ROOF
ARRANGEMENT FOR LHB E

Set 1 983490 03-SEP-20 23/80

333 33622747 COPPER CRIMPING SOCKET FOR 10SQMM EBM
CABLE

Nos. 8898 53083 03-OCT-20 23/80

334 33623351 HARNESS OF UNDERFRAME AND SUPER
STRUCTURE ARRANGE

Set 36 29311200 21-JAN-23 23/80

335 33640210 COPPER CRIMPING SOCKET FOR 35SQMM CABLE Nos. 1163 37886 23-DEC-21 23/80

336 33640981 PLUG AND SOCKET DISTRIBUTION BOARD
20A,240V AC

Nos. 178 144337 20-JUN-19 23/80

337 33641705 SET OF SWITCH PLATE ASSEMBLY FOR LHB EOG
AC COMPOS

Set 10 100757 11-MAR-23 23/80

338 33641985 SWITCH PLATE ASSEMBLY (CS& 5 PIN CHARGING
SOCKET ,

Nos. 126 33255 04-JAN-22 23/80

339 33650238 SET OF CLAMP FOR LHB HOT BUFFET COACH Set 49 49631 13-OCT-22 23/80

340 33650366 SET OF CLAMP FOR LHB EOG FIRST CLASS
COACH

Set 31 44635 06-OCT-22 23/80

341 33692713 SUPPORT ANGLE FOR LHB AC 3-TIER ECONOMY
COACHES

Nos. 1695 444 36852 13-MAY-23 23/80

342 35987017 SCREW COUPLER DIA 32 Nos. 2364 65157 24-MAR-23 23/80

343 37980002 JUNCTION BOX COMPLETE FOR MRVC/BT
COACHES

Nos. 35 12128 16-OCT-19 23/80

344 40056302 PVC INSULATED TWIN CORE COPPER WIRE
23/.0076

MTR 4095 108561 16-MAY-20 23/80

345 40075527 RUBBER CABLE OF TYPE H07RN-F SIZE: 4G6 MTR 1128 280496 19-MAY-18 23/80

346 41980062 CONNECTOR 2WAY,5A 110V Nos. 6756 26703 21-APR-15 23/80

347 41987123 SUPPORT BLOCK 50X50X85 Nos. 32 10053 13-MAR-20 23/80

348 42020110 ONE GANG FRAME FITTED WITH ONE MODULE &
ONE AMP.GL

Nos. 504 82925 04-JAN-22 23/80

349 42020120 TWO GANG FRAME FITTED WITH TWO MODULE
AND ONE AMP,

Nos. 197 55728 04-JAN-22 23/80

350 42900026 COPPER CRIMPING SOCKET FOR 4SQMM EBM
CABLE

Nos. 15266 42820 09-MAR-23 23/80

351 42980008 CLEAT COMPLETE. Nos. 187 147231 16-MAR-20 23/80

352 42980044 ELECTROLYTIC TOUGH PITCH COPPER TUBE DIA
40MM, 12S

MTR 143.01 294777 24-SEP-19 23/80

353 42980616 COPPER CRIMPING SOCKET FOR 6SQMM CABLE Nos. 5670 31641 12-JAN-22 23/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

15 of 28 02-08-2025, 09:28



354 42981190 TRACTION MOTOR CLEAT ARRGT. COL-I FOR
MEDHA ELECTR

Nos. 97 76897 11-SEP-19 23/80

355 42982121 ELECTROLYTIC TOUGH PITCH COPPER TUBE DIA
20MM,12SW

MTR 481.56 453650 02-FEB-22 23/80

356 42982212 ELECTRIC CEILING FAN CAPACITOR TYPE,SWEEP
SIZE:140

Nos. 443 707843 23-MAY-23 23/80

357 42983004 CABLE HARNESS FOR MEMU TRAILER COACHES Set 30 9143847 05-FEB-20 23/80

358 42983231 V-BELT SIZE C-122 (SET OF 12 BELT) RDSO
APPROVED (

Nos. 4005 702398 09-MAR-18 23/80

359 42984961 COPPER CRIMPING SOCKET FOR 150SQMM
CABLE

Nos. 1007 139824 23-DEC-21 23/80

360 42988913 COPPER CRIMPING SOCKETS FOR 6SQMM CABLE Nos. 1341 6289 13-DEC-21 23/80

361 45014140 4.5KW 110/120V DC BRUSHLESS ALTERNATOR
WITH ACCES

Set 8 788711 03-APR-21 23/80

362 45981309 RAILWAY CARRIAGE FAN 400MM SWEEP,FIXED
TYPE,110V A

Nos. 540 998749 15-NOV-18 23/80

363 45982752 RLY CARRIAGE FAN ,450 MM SWEEP ,FIXED TYPE
140V,AC

Nos. 267 725009 05-APR-21 23/80

364 30247068 FOOT STEP ARRANGEMENT Nos. 108 116004 04-JAN-22 27/80

365 30367074 FRP COVER FOR RSERVOIR SUSPENSION ARRGT. Nos. 40 8198 03-DEC-21 27/80

366 30420064 FRP PANEL(SHADE RAL-1034) Nos. 23 27391 11-FEB-10 27/80

367 30430276 SET OF FRP COVER MOULDING FOR AC 3 TIER
SG COACHES

Set 11 53304 20-SEP-17 27/80

368 30440373 SET OF FRP ITEMS FOR AC3T SG COACHES Set 5 131816 30-OCT-17 27/80

369 30537022 FRP DOOR WINDOW ARRGT. Nos. 143 552867 02-JUL-19 27/80

370 30538038 FRP DOOR WINDOW ARRGT. Nos. 314 1520544 08-MAR-21 27/80

371 30540078 EMERGECY OPENABLE WINDOW FOR MEMUT
COACHES

Nos. 24 194155 31-MAR-21 27/80

372 30540185 BODY SIDE WINDOW ARRGT. Nos. 229 1436643 31-MAR-21 27/80

373 30548214 FRP BODY SIDE WINDOW ARRGT. Nos. 257 1128636 24-MAR-22 27/80

374 30557132 LAV. WINDOW ARRGT. (INJURY FREE) COLOUR
SATIN BLUE

Nos. 106 352700 11-FEB-20 27/80

375 30610473 FRP HOUSING FOR FLUSHING PIPE ARRGT
(COLOUR SHADE

Nos. 11 6353 24-FEB-20 27/80

376 30617388 CHAIR ANGLE SET FOR GS (FUR), PAINTING AS
PER MDTS

Set 6 69335 17-FEB-20 27/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

16 of 28 02-08-2025, 09:28



377 30617418 CHAIR ANGLE SET FOR MEMU/DMC (FUR),
PAINTING AS PE

Set 14 83480 24-DEC-19 27/80

378 30617420 CHAIR ANGLE SET FOR MEMU/TC (FUR),
PAINTING AS PER

Set 31 247692 17-JAN-20 27/80

379 30630012 LAVATORY MODULE FOR RAA COACH Nos. 1 5238 22-FEB-19 27/80

380 30630214 SET OF MODULE FOR LAVATORY &WASH ROOM
FOR MBIUSP

Nos. 2 11648 22-AUG-08 27/80

381 30630326 LAV. MODULE COMPLETE FOR DISABLED
LAVATORY

Nos. 9 82368 08-JUN-09 27/80

382 30630356 OUTLET PIPE COMPLETE FOR PORCELAIN WASH
BASIN

Nos. 145 50000 20-DEC-18 27/80

383 30630435 LAVATORY MODULE COMPLETE SUITABLE TO
AIKON SS PAN

Nos. 73 284734 27-NOV-09 27/80

384 30630447 LAV. MODULE COMPLETE SUITABLE WITH AIKON
SS PAN

Nos. 9 25288 13-FEB-09 27/80

385 30630459 LAV. MODULE COMPLETE SUITABLE WITH AIKON
SS PAN

Nos. 7 22142 06-JAN-10 27/80

386 30630460 LAV. MODULE COMPLETE SUITABLE TO AIKON SS
PAN

Nos. 6 19745 09-FEB-10 27/80

387 30630484 LAV. MODULE COMPLETE SUITABLE TO AIKON SS
PAN

Nos. 11 36536 02-FEB-10 27/80

388 30630526 OUTLET PIPE ARRGT. FOR WASH HAND SINK Nos. 162 123406 15-MAR-21 27/80

389 30630540 SS INLAY INDIAN STYLE Nos. 60 624240 23-JAN-19 27/80

390 30630575 SS INLAY FOR INDIAN STYLE WITH OUTSIDE
WASH BASIN

Nos. 36 502191 21-JAN-20 27/80

391 30630587 SS INLAY INDIAN STYLE WITH OUTSIDE WASH
BASIN

Nos. 23 255553 23-JAN-19 27/80

392 30630599 SS INLAY FOR INDIAN STYLE Nos. 69 935394 31-MAR-21 27/80

393 30630630 LAV MODULE FOR DISABLED LAV Nos. 36 337341 16-MAR-18 27/80

394 30630708 MODIFIED HDPE CHUTE Nos. 261 116675 28-NOV-19 27/80

395 30631178 SET OF FRP DOOR FRAME PANELS FOR LHB FAC
COACHES

Set 5 52658 20-JAN-23 27/80

396 30636863 WATER TANK ASSEMBLY Nos. 94 2250445 10-JAN-22 27/80

397 30637030 PORCELAIN COMMODE WITH ELIPTICAL BOTTOM Nos. 322 188500 04-SEP-13 27/80

398 30637302 WATER TANK ASSEMBLY (300 LITRES CAPACITY) Nos. 1 17316 22-MAY-08 27/80

399 30637648 WASH BASIN OUTLET PIPE Nos. 32 16221 03-MAR-18 27/80

400 30637946 LAVATORY MODULE Nos. 21 162729 05-FEB-09 27/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

17 of 28 02-08-2025, 09:28



401 30637958 LAVATORY MODULE Nos. 114 469477 16-MAR-18 27/80

402 30637960 LAVATORY MODULE Nos. 2 9665 16-MAR-18 27/80

403 30637995 LAVATORY MODULE Nos. 8 20604 08-JUL-08 27/80

404 30638574 LAVATORY MODULE COMPLETE Nos. 5 11682 27-MAR-06 27/80

405 30638586 WATER TANK ASSLY.WITH DOUBLE FILLING
CONNECTION

Nos. 39 824847 25-FEB-19 27/80

406 30638738 LAVATORY MODULE COMPLETE FOR STAFF
TOILET IN RA CO

Nos. 1 3244 19-APR-08 27/80

407 30640416 SS INLAY WESTERN STYLE Nos. 50 483180 23-JAN-19 27/80

408 30676496 PORCELAIN COMMODE FOR COACHING STOCK Nos. 28 15190 19-DEC-06 27/80

409 30982662 OUTLET PIPE ARRGT. FOR INSIDE WASH BASIN Nos. 91 239913 11-OCT-18 27/80

410 30983848 SET OF FRP COVERING PANELS FOR LEAVER
MECHANISIM O

Set 1151 544538 03-MAY-16 27/80

411 30984853 RETENTION TANK WITH S-TRAP (RH) FOR BG
CONVENTIONA

Nos. 56 2943352 02-MAR-22 27/80

412 30984865 RETENTION TANK WITH S-TRAP (LH) FOR FOR
BG CONVENT

Nos. 49 2595873 21-JAN-20 27/80

413 31547023 FRP BODY SIDE WINDOW ARRGT. Nos. 142 602642 03-FEB-20 27/80

414 31567113 DOOR ASSEMBLY FOR L.T. COMPT. Nos. 4 25424 19-FEB-20 27/80

415 31567150 DOOR ASSEMBLY FOR EQUIPMENT COMPT. Nos. 7 41242 22-FEB-20 27/80

416 31647030 AIR DUCT COMPLETE Nos. 11 18469 17-OCT-18 27/80

417 31647042 AIR DUCT COMPLETE Nos. 2 15455 17-OCT-18 27/80

418 31647054 AIR DUCT DETAILS FOR TRACTION MOTOR Nos. 173 94068 28-DEC-18 27/80

419 31647066 AIR DUCT DETAILS FOR TRACTION MOTOR Nos. 7 56790 07-AUG-18 27/80

420 31647078 BOX COMPLETE FOR AIR FILTER Nos. 19 41349 13-JAN-20 27/80

421 31647080 BOX COMPLETE FOR AIR FILTER Nos. 5 10707 11-MAR-19 27/80

422 31647091 AIR DUCT COMPLETE FOR TRACTION MOTOR
NON DRIVING E

Nos. 113 711900 16-APR-19 27/80

423 31647108 AIR DUCT COMPLETE FOR TRACTION MOTOR
NON DRIVING E

Nos. 113 62291 16-APR-19 27/80

424 31647121 AIR DUCT COMPLETE FOR TRACTION MOTOR
NON DRIVING E

Nos. 6 3696 29-JAN-20 27/80

425 31647194 FRAME COMPLETE FOR FILTER BOX Nos. 20 27230 30-MAY-19 27/80

426 31647327 HAND HOLDS FOR MEMU/TC COACHES Nos. 15 944469 13-MAR-20 27/80

427 31647339 HAND HOLDS FOR MEMU/DMC COAHES Nos. 21 634094 10-FEB-20 27/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

18 of 28 02-08-2025, 09:28



428 31980703 FRP MODULAR TOILET WITH PAN FOR
MEMUT3PH COACHES,F

Set 1 146535 30-JUN-23 27/80

429 31983078 WASH BASIN OUTLET PIPE Nos. 209 100012 03-MAR-18 27/80

430 32981272 LAVATORY MODULE COMPLETE Nos. 1 2621 13-SEP-08 27/80

431 32981284 LAVATORY MODULE Nos. 30 79281 17-SEP-08 27/80

432 32981296 LAVATORY MODULE COMPLETE Nos. 10 27791 21-MAY-08 27/80

433 32981454 CHUTE ARRANGEMENT FOR WASH BASIN
OUTLET

Nos. 168 57558 15-MAR-21 27/80

434 32981879 OUTLET PIPE COMPLETE FOR WASH HAND SINK, Nos. 200 98756 21-MAR-18 27/80

435 32985836 LUGGAGE RACK FOR SLR COACHES (COLOUR
SHADE MIDDLE

Set 2 30135 22-MAR-18 27/80

436 33555333 TROUGH BELOW AC UNIT COMPLETE NPPE
(TRACEABILITY M

Nos. 77 1733283 18-FEB-20 27/80

437 33560249 SET OF SIDE WALL PANELS FOR AC 2TIER EOG
LHB COACH

Set 4 507444 19-MAR-16 27/80

438 33560523 SUPPLY AND APPLY OF FRP BODY SIDE WINDOW
ARRGT. IN

Nos. 41 412074 03-AUG-21 27/80

439 33560547 FIXING OF EMERGENCY OPENABLE WINDOW IN
LHB POWER C

Nos. 1 41246 03-AUG-21 27/80

440 33561783 EMERGENCY OPENABLE WINDOW FOR LHB SCN
(SHELL LHB O

Nos. 167 1168734 05-OCT-21 27/80

441 33561849 FRP WINDOW COVER (COLOUR SATIN BLUE
ISC:177)

Nos. 540 299837 23-SEP-21 27/80

442 33565739 SET OF FRP DOOR PORTAL PANEL FOR LHB
COMPOSITE (AC

Set 13 109941 23-JAN-21 27/80

443 33567256 SET OF FRP DOOR FRAME PANELS FOR LHB AC 3
TIER HUM

Set 10 48000 02-MAR-20 27/80

444 33571879 SET OF CHAIR ANGLE FOR LHB DSLR WITH
UNDER SLUNG P

Set 18 215441 20-SEP-21 27/80

445 33573931 SET OF CHAIR ANGLE FOR LHB GS (SHELL LHB
ON ICF BO

Set 28 774648 17-JUL-18 27/80

446 33573955 SET OF CHAIR ANGLE FOR LHB COMPOSITE
(AC2T+FAC ) E

Set 14 610707 04-MAR-22 27/80

447 33581447 SET OF CEILING ANGLES FOR LHB COMPOSITE
COACH (FAC

Set 1 8702 25-JAN-21 27/80

448 33592196 SET OF FRP END COVERS FOR LUGGAGE RACK
FOR LHB NON

Nos. 83 97616 28-AUG-17 27/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

19 of 28 02-08-2025, 09:28



449 33592974 SET OF CEILING SHEET ASSEMBLIES FOR AC1L
COACH,MDT

Set 1 231280 28-JAN-23 27/80

450 33593220 ATTACHMENT WALL COMPLETE LH COLOUR
SATIN BLUE

Nos. 1 3417 23-SEP-21 27/80

451 33593310 SET OF SIDE PANELS FOR LHB GS (MDTS 133
REV.02)

Set 2 323761 20-SEP-05 27/80

452 33593425 SET OF FRP SIDEWALL PANELS FOR LHB
COMPOSITE (AC2T

Set 9 946303 25-JAN-21 27/80

453 33594223 ATTACHEMENT WALL COMPLETE LH FOR LHB
EXECUTIVE

Nos. 36 125878 22-MAR-16 27/80

454 33594764 SET OF SIDE WALL PANELS FOR L1ACEA AND
MDTS133 REV

Set 2 238925 31-JAN-23 27/80

455 33595537 ATTACHMENT WALL COMPLETE RH COLOUR
SATIN BLUE

Nos. 22 58248 21-SEP-21 27/80

456 33595719 FRP PANEL COVERING NEAR ELECT. CUBICAL Nos. 35 24622 04-DEC-19 27/80

457 33596104 ATTACHMENT WALL COMPLETE RH FOR LHB
EXECUTIVE

Nos. 36 125877 22-MAR-16 27/80

458 33596141 FRP WINDOW COVER. COLOUR SHADE RAL-1034 Nos. 206 122974 15-MAY-09 27/80

459 33598230 SET OF PANEL FOR DOOR CORNER AREA FOR
LHB DSLR WIT

Set 2 20716 20-SEP-21 27/80

460 33598307 FLAT CEILING OF PANTRY AREA FOR DOUBLE
DECKER (LHB

Set 11 237999 09-JUN-23 27/80

461 33599087 SET OF FRP SIDE WALL PANELS AND PANEL
COVERING NEA

Set 10 1471100 17-MAR-21 27/80

462 33610009 LAVATORY FLOOR COMPLETE FOR LHB SCN
(SHELL LHB ON

Nos. 51 690547 23-SEP-20 27/80

463 33610010 LAVATORY FLOOR COMPLETE ORIENT-2 FOR LHB
COACHES

Nos. 4 54181 31-JAN-20 27/80

464 33610502 RETENTION TANK (RH) Nos. 4 287524 31-DEC-20 27/80

465 33612020 PRE-ASSEMBLED FRP DROP DOWN MODULAR
TOILET FOR LHB

Set 5 2812185 04-JAN-22 27/80

466 33612365 LAV.FLOOR COMPLETE EURO TYPE Nos. 31 374195 18-SEP-21 27/80

467 33612390 RETENTION TANK (LH) Nos. 9 737835 15-DEC-20 27/80

468 33612419 PRE-ASSEMBLED FRP DROP DOWN MODULAR
TOILET UNIT WI

Set 4 3756586 26-OCT-20 27/80

469 33612420 PRE-ASSEMBLED FRP DROP DOWN MODULAR
TOILET FOR LHB

Set 1 547999 10-JUL-20 27/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

20 of 28 02-08-2025, 09:28



470 33612869 LAVATORY GRP PANEL OF WINDOW Nos. 116 65770 18-OCT-18 27/80

471 33612894 RETENTION TANK RH FOR BG CONVENTIONAL
COACHES.

Nos. 9 699143 20-MAR-18 27/80

472 33613254 PRE-ASSEMBLED FRP DROP DOWN MODULAR
TOILET FOR LHB

Set 2 1566466 12-JAN-17 27/80

473 33613278 ATTACHMENT WALL FOR LAV.ACCESSORIES Nos. 9 41307 05-AUG-13 27/80

474 33613333 RETENTION TANK LH FOR BG CONVENTIONAL
COACHES.

Nos. 9 702691 22-JAN-18 27/80

475 33614805 IR-DRDO BIO-DIGESTER RETENTION TANK FOR
LHB POWER

Nos. 2 67584 21-MAR-18 27/80

476 33614969 FIXING ARRANGEMENT OF WATER TANK FLAP
FOR LHB TYPE

Nos. 93 479225 19-MAY-22 27/80

477 33615147 UNIFIED PRESSING OF STAINLESS STEEL INLAY
FOR PASS

Nos. 39 589680 08-OCT-21 27/80

478 33615469 FRP MODULAR TOILET WITHOUT WALL
MOUNTED CERAMIC UR

Set 3 3898500 29-FEB-20 27/80

479 33615810 SUPPLY AND INSTALLATION OF SET OF FRP
LAVATORY MOD

Set 1 627959 26-MAY-22 27/80

480 33691186 TROUGH BELOW AC UNIT COMPLETE
(TRACEABILITY MARK A

Nos. 45 1146685 02-JUN-21 27/80

481 33691198 TROUGH BELOW AC UNIT COMPLETE NPPE
(TRACEABILITY M

Nos. 44 974796 24-JAN-14 27/80

482 35982317 FRP TOP COVER (SHADE RAL-7001) Nos. 12 88110 10-SEP-09 27/80

483 37985826 OUTLET PIPE ARRANGEMENT FOR OUT SIDE
WASH BASIN

Nos. 28 22460 05-APR-21 27/80

484 45178471 FRP TRAY FOR MG BATTERY BOX Nos. 36 19178 09-APR-07 27/80

485 45980123 FIBRE GLASS TRAY FOR BATTERY BOX FOR NON
AC COACHE

Set 192 394735 13-MAY-16 27/80

486 23981106 CLAMP Nos. 2035 28855 30-DEC-21 28/80

487 30100379 SET OF CABLE TRAY COMPLETE FOR MEMU/DMC
COACH

Set 10 270375 07-FEB-20 28/80

488 30547726 LARGE SEALED WINDOW GLASS UNIT Nos. 12 36000 28-MAY-20 28/80

489 31726161 TWIN BEAM HEAD LIGHT WITH 24V HALOGEN
LAMP WITH MO

Nos. 23 466943 05-APR-21 28/80

490 31726239 BATTERY CHARGER WITH FILTER CHOKE &
CONDENSER

Nos. 16 1377274 23-DEC-21 28/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

21 of 28 02-08-2025, 09:28



491 31750023 END WALL TERMINAL BOARD FOR MEMU/
TRAILER COACHES

Set 27 382288 11-MAR-20 28/80

492 31750564 SET OF TERMINAL BOARD (END WALL) Set 789 11304114 21-MAR-20 28/80

493 31757017 MCB PANEL ARRANGEMENT ON END
CONSTRUCTION

Nos. 22 425926 21-MAR-20 28/80

494 31907040 RECTIFIER AIR INTAKE WITH MATERIAL TO
SPEC.NO IS:1

Nos. 5 16985 04-FEB-20 28/80

495 31907064 SUPPORT FOR CURRENT TRANSFORMER Nos. 1 1155 11-MAR-20 28/80

496 33635249 10KVA TRANSFORMER Nos. 3 105435 27-AUG-20 28/80

497 33642813 SET OF ELEC ITEMS FOR LHB VP COACHES Set 62 9730280 10-JUL-23 28/80

498 33692660 PIS MOUNTING BOX FOR LHB AC 3 TIER
ECONOMY COACHES

Nos. 887 444 1158694 25-APR-23 28/80

499 30560822 LAV. DOOR ARRANGEMENT FOR HANDICAPPED
COMP.

Nos. 4 10457 32/80

500 30637168 MIRROR ASSEMBLY COMPLETE FOR MIRROR
FIXING ARRGT.

Nos. 78 21883 32/80

501 30639190 AUXILIARY WATER TANK (L.H) Nos. 8 27373 02-AUG-04 32/80

502 30767015 TOILET ENGAGED INDICATION LIGHT FITTING Nos. 99 22900 32/80

503 30982121 COVER MOULDING FOR FAN BRACKET Nos. 200 2608 32/80

504 30988858 VESTIBULE ARRANGEMENT (UIC TYPE ) Set 85 894437 32/80

505 33561035 HOPPER WINDOW FOR LHB COACHES Nos. 9 71732 32/80

506 33594650 MIRROR LH Nos. 2 785 32/80

507 33612705 MIRROR RH Nos. 2 799 32/80

508 36985971 AUXILIARY WATER TANK (R.H) Nos. 3 8813 02-AUG-04 32/80

509 37985875 FIXING ARRANGEMENT OF ROLLING SHUTTER Nos. 111 201377 32/80

510 45976740 PCB FOR FLASHER 24V5W ZENOR ACROSS Nos. 119 38179 32/80

511 73031951 HEX HEAD BOLT M20X190N Kgs. 550 19107 01-AUG-05 32/80

512 30640374 MIRROR FOR LAVATROY FOR CONV. COACHES Nos. 276 47289 28-OCT-20 33/80

513 31985907 STEEL PANEL Nos. 1 13035 31-DEC-21 33/80

514 32989714 RUBBER PROFILE,LENGTH=1800 MM Nos. 998 70512 27-OCT-18 33/80

515 33530245 ALUMINIUM PIPE 63MMX3.15MM IN LENGTH OF
5 MTRS

MTR 1590.4 716652 02-MAR-20 33/80

516 33535140 RUBBER PACKING 20X40X600MM EPDM SPONGE Nos. 4230 156975 13-JUL-18 33/80

517 33535334 RUBBER PACKING 2X999X1039MM EPDM Nos. 479 183261 24-JAN-20 33/80

518 33550128 WATER TANK FLAP Nos. 399 960092 04-AUG-09 33/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

22 of 28 02-08-2025, 09:28



519 33550505 WATER TANK FLAP Nos. 399 966827 04-AUG-09 33/80

520 33555280 LETTERING OUTSIDE OF AC 3 TIER (EOG) LHB
COACH

Set 196 816572 12-NOV-16 33/80

521 33555308 LAYOUT OF LETTERING OUTSIDE LHB SCN (LHB
SHELL ON

Nos. 215 942326 22-JAN-10 33/80

522 33557676 DESTINATION BOARD MOUNTING Nos. 70 532609 09-JUL-18 33/80

523 33557731 LAYOUT OF LETTERING INSIDE FOR LHB
COMPOSITE (AC 2

Nos. 26 49915 26-SEP-20 33/80

524 33560330 EMERGENCY VENETIAN WINDOW FOR LHB AC
CHAIR CAR.COL

Nos. 6 273083 22-OCT-19 33/80

525 33560432 SUPPLY AND APPLY OF EMERGENCY WINDOW IN
LHB AC CHA

Nos. 9 63726 20-AUG-20 33/80

526 33560444 SUPPLY AND APPLY OF FIXED WINDOW IN LHB
AC CHAIR C

Nos. 16 110656 20-AUG-20 33/80

527 33560481 SUPPLY AND APPLY OF FIXED WINDOW IN LHB
COACHES WI

Nos. 19 135430 29-JUN-22 33/80

528 33560511 SUPPLY AND APPLY OF EMERGENCY WINDOW IN
LHB COACHE

Nos. 5 31512 23-DEC-21 33/80

529 33560559 OBSERVATION WINDOW (BIG) FOR INSPECTION
CARRIAGE A

Nos. 6 65856 25-JAN-20 33/80

530 33581630 CABLE DUCT WITH PARTITION Nos. 1798 1769510 28-JUL-21 33/80

531 33591350 CABLE DUCT WITH PARTITION Nos. 552.9 390815 28-APR-22 33/80

532 33592846 AIR INLET DUCT FOR IST AC(LHB).WHERE EVER
INSULATI

Nos. 2 489122 25-JAN-23 33/80

533 33593140 PANEL FOR DOOR FRAME PORTAL FOR LHB
HYBRID NON - A

Nos. 78 41627 18-MAR-21 33/80

534 33593395 LETTERING INSIDE FOR LHB GS (SHELL LHB ON
ICF BOG

Nos. 133 365036 26-APR-10 33/80

535 33593413 AIR INLET DUCT COMPLETE FOR LHB
COMPOSITE (AC2T+FA

Nos. 2 526592 16-JAN-21 33/80

536 33593905 BRACKET FOR SUPPORT OF BACK REST -CUM
BERTH LONGI.

Nos. 676 318020 06-FEB-20 33/80

537 33594053 AUTO SENSOR TAP WITH SOLENOID VALVE AND
SENSOR UNI

Nos. 80 501816 11-JUN-19 33/80

538 33594375 TRAY FOR RADIATOR ROOM Nos. 59 569992 02-DEC-20 33/80

539 33594442 PLATE Nos. 4581 469395 16-SEP-15 33/80

540 33594946 DEFLECTOR ASSEMBLY FOR RADIATOR ROOM Nos. 179 614953 02-NOV-20 33/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

23 of 28 02-08-2025, 09:28



541 33595150 BACK PIECE FOR POLYCARBONATE SNACK TABLE
IN COUPE

Nos. 10 5841 06-FEB-23 33/80

542 33595550 PANEL FOR DOOR FRAME PORTAL FOR LHB
HYBRID NON-AC

Nos. 583 235969 09-MAR-21 33/80

543 33595744 TABLE FOR EXECUTIVE CHAIR CAR(LHB TYPE) Nos. 68 408724 14-SEP-17 33/80

544 33596712 AIR INLET DUCT FOR PC (LHB).(WHERE EVER
INSULATION

Nos. 4 296000 21-OCT-20 33/80

545 33596906 EXHAUST AIR BOX Nos. 3 11078 17-JUL-20 33/80

546 33596931 CABLE DUCT Nos. 1120.5 659818 22-MAR-11 33/80

547 33599105 AIR INLET DUCT COMPLETE FOR LHB EOG
INSPECTION CAR

Nos. 14 2202570 25-AUG-21 33/80

548 33600120 SPACER Nos. 3441 243892 13-JUN-19 33/80

549 33610459 FILLING FLAP COMPLETE Nos. 245 367906 10-MAY-12 33/80

550 33611889 BOW COMPLETE FOR LHB COACHES Nos. 434 67165 15-FEB-21 33/80

551 33611932 SET OF ATTACHMENT WALLS, COLOUR SHADE
RAL-1034

Set 10 121346 01-DEC-20 33/80

552 33612456 BOW COMPLETE FOR LHB COACHES Nos. 366 56642 23-FEB-17 33/80

553 33613059 FLEXIBLE CONNECTER HOSE WITH STAINLESS
STEEL MESH

Nos. 1260 452498 09-JAN-19 33/80

554 33613679 FLEXIBLE CONNECTER HOSE Nos. 797 169900 11-APR-17 33/80

555 33680176 WATER TANK FLAP ARRGT LH FOR LHB GS
(SHELL LHB ON

Nos. 54 67737 21-OCT-21 33/80

556 33682288 MARKING DIAGRAM FOR LHB GS EOG
(ANTYODAYA) COACH

Set 8 180776 03-DEC-19 33/80

557 33690650 LETTERING OUTSIDE FOR GENERATOR VAN LHB Set 9 110779 09-SEP-20 33/80

558 33690704 SERVING TROLLEY Nos. 47 1814088 15-MAR-22 33/80

559 33691745 SKIRTING FRAME FOR LHB DSLR WITH UNDER
SLUNG POWER

Nos. 253 73904 06-SEP-21 33/80

560 35982561 STOP ARRANGEMENT FOR LHB TYPE NON AC
CHAIR CAR

Nos. 163 706391 23-NOV-19 33/80

561 35984016 SET OF CONNECTING DUCT COMPLETE FOR
COMPOSITE (AC2

Set 77 572961 17-JAN-19 33/80

562 30988639 HEXAGON HEAD SCREW WITH HOLES FOR LOCK
WIRE

Nos. 3543 48324 18-MAY-22 35/80

563 33600703 SPECIAL BOLT Nos. 252 22888 27-FEB-20 35/80

564 33670067 HEX SOCKET THIN HEAD CAP SCREW M10X25 Nos. 4989 32076 20-SEP-21 35/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

24 of 28 02-08-2025, 09:28



565 33670146 HEX HEAD BOLT M24X200 HIGH TENSILE Nos. 1088 85375 09-OCT-18 35/80

566 33670195 HEX HEAD BOLT M16X90 HIGH TENSILE Nos. 8605 286949 18-FEB-21 35/80

567 33670500 PREVAILING TORQUE TYPE ALL METAL HEX NUT
M20

Nos. 600 14160 27-JUL-22 35/80

568 33670535 HEX HEAD SCREW M10X25 HIGH TENSILE Nos. 7320 25294 11-FEB-22 35/80

569 33670596 HEX SOCKET HEAD CAP SCREW M8X25 HIGH
TENSILE

Nos. 8888 47293 08-OCT-21 35/80

570 33670900 NYLOC NUT M10 HIGH TENSILE Nos. 3400 10828 18-DEC-19 35/80

571 33671011 CSK HD SCREW M5X75 STAINLESS STEEL Nos. 14116 73452 26-MAY-21 35/80

572 33671138 HEX HEAD SCREW M16X60 HIGH TENSILE Nos. 6665 126804 23-NOV-21 35/80

573 33671254 HEX HEAD BOLT M20X120 HIGH TENSILE Nos. 425 24834 31-DEC-19 35/80

574 33671321 HEX SOCKET HD SCREW WITH FLAT POINT
M12X25-45H

Nos. 2710 62529 07-APR-21 35/80

575 33671990 HEX HEAD BOLT M20X100 HIGH TENSILE Nos. 5967 154236 23-SEP-20 35/80

576 33672027 HEX SOCKET THIN HEAD CAP SCREW M10X30 Nos. 36042 393399 26-OCT-21 35/80

577 35984545 HEX HEAD SCREW M20X30 HIGH TENSILE Nos. 1305 26266 03-MAR-18 35/80

578 35984685 CSK HD TAPPING SCREW ST 3.5X16-C STAINLESS
STEEL

Nos. 612596 290549 21-OCT-19 35/80

579 35984892 SPECIAL HAMMER HEAD SCREW M8X25 Nos. 11100 73084 06-DEC-21 35/80

580 73011356 HEX HEAD BOLT M8X20 Kgs. 450 37800 13-MAR-18 35/80

581 73031379 HEX HEAD BOLT M16X50-SH HIGH TENSILE Nos. 8089 147757 17-SEP-19 35/80

582 73036020 HEX HEAD BOLT M8X100 GALVD. Nos. 111789 39700 26-MAR-18 35/80

583 73060005 CASTLE NUT M24 Nos. 1004 15542 10-APR-18 35/80

584 73130606 HEX THIN NUT M10 Nos. 3382 6696 05-AUG-19 35/80

585 73130655 HEX THIN NUT M12 Kgs. 937 104983 21-JUL-23 35/80

586 73130965 LOCK NUT FOR DIA 25 BORE PIPE Nos. 940 44368 18-JUN-19 35/80

587 73156280 NYLOC NUT M8 HIGH TENSILE Nos. 3160 15412 22-AUG-20 35/80

588 73158483 NYLOC NUT M18X2.5 HIGH TENSILE Nos. 8099 96275 03-MAY-19 35/80

589 73324759 SPLIT PIN 13X112 Nos. 2603 24645 23-OCT-19 35/80

590 73500402 HEX SOCKET HEAD CAP SCREW M12X45
STAINLESS STEEL

Nos. 1800 25171 18-NOV-22 35/80

591 73510403 HEX HEAD SCREW M5X25 HIGH TENSILE Nos. 2079 2887 24-MAR-23 35/80

592 73522648 CSK HEAD SCREW WITH HEX SOCKET M5X20
STAINLESS STE

Nos. 504 1190 28-MAY-19 35/80

593 73530098 CSK HD SCREW M6X50 STAINLESS STEEL Nos. 30396 104366 17-APR-19 35/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

25 of 28 02-08-2025, 09:28



594 73530130 CSK HD TAPPING SCREW ST 3.5X13-C STAINLESS
STEEL

Nos. 98142 32555 26-OCT-18 35/80

595 73530177 PAN HD TAPPING SCREW ST 4.8X13-C STAINLESS
STEEL

Nos. 20290 21069 06-JUN-17 35/80

596 73530402 CSK HEAD SCREW M5X12 NICKEL PLATED Kgs. 774.3 36731 06-JUN-17 35/80

597 73530426 CSK HD SCREW M5X16, COATING AS PER MDTS
057

Kgs. 72.8 15205 28-JUL-23 35/80

598 73530918 CSK HD SCREW M6X55, COATING AS PER MDTS
057

Kgs. 5001.42 123155 20-DEC-19 35/80

599 73557079 PAN HD TAPPING SCREW ST 4.2X13-C STAINLESS
STEEL

Nos. 509480 325039 30-MAR-23 35/80

600 73560200 HEX HEAD SCREW M6X20 Kgs. 2077.21 200245 17-FEB-23 35/80

601 73560236 HEX HEAD SCREW M6X25 Kgs. 17.84 1366 17-MAR-23 35/80

602 73560420 HEX HEAD SCREW M6X50 Nos. 125 279 04-MAR-23 35/80

603 73560595 HEX HEAD SCREW M8X25 Kgs. 23.255 2373 26-JUL-22 35/80

604 73560844 HEX HEAD SCREW M10X20 Kgs. 13 1381 06-NOV-19 35/80

605 73560900 HEX HEAD SCREW M10X25 Kgs. 253.8 36737 17-JAN-22 35/80

606 73561009 HEX HEAD SCREW M10X40 Kgs. 1732.074 114963 07-AUG-20 35/80

607 73561344 HEX HEAD SCREW M12X50 Kgs. 2665.149 273603 11-JUL-22 35/80

608 73600027 WOOD SCREW NO. 8X30 Nos. 960 5098 22-NOV-19 35/80

609 73622011 PAN HD TAPPING SCREW ST 4.8X19-F STAINLESS
STEEL

Nos. 337710 324901 13-JUN-19 35/80

610 73700400 PUNCHED WASHER A4.5,COATING AC25 TO
IS:1868-1982

Kgs. 96.1 3889 02-JAN-18 35/80

611 73710155 SPRING WASHER B5, COATING AS PER MDTS 057 Kgs. 287.573 11218 15-MAR-23 35/80

612 73818290 HEX HEAD BOLT M8X60 STAINLESS STEEL Nos. 1010 8578 22-JUL-23 35/80

613 73835950 SNAP HEAD RIVET 3X8, COATING AC25 TO
IS:1868-1982

Kgs. 33.34 12754 09-AUG-19 35/80

614 73836394 SNAP HEAD RIVET 6X26, COATING AC25 TO
IS:1868-1982

Kgs. 43.498 13979 22-MAR-18 35/80

615 73836514 SNAP HEAD RIVET 8X25 Nos. 62.5 4688 13-MAR-18 35/80

616 73836539 CSK HD RIVET 3X20 ALUMINIUM Kgs. 21.003 13650 15-JUL-19 35/80

617 73839711 SNAP HEAD RIVET 3X15 ALUMINIUM Nos. 26408 7342 19-MAR-19 35/80

618 73844123 HEX HEAD SCREW M16X30 HIGH TENSILE Nos. 1282 6692 06-NOV-19 35/80

619 73844135 HEX HEAD SCREW M12X45 HIGH TENSILE Nos. 2494 19487 09-JUN-23 35/80

620 73853264 HEX SOCKET HEAD CAP SCREW M8X40 Nos. 400 2483 07-NOV-22 35/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

26 of 28 02-08-2025, 09:28



621 73970335 CSK HD SCREW M5X40, COATING AS PER MDTS
057

Kgs. 343.108 43394 21-FEB-22 35/80

622 73973361 CSK HD SCREW M6X20, COATING AS PER MDTS
057

Kgs. 461.302 50282 17-APR-19 35/80

623 73973385 CSK HD SCREW M6X25, COATING AS PER MDTS
057

Kgs. 551.6 74698 05-SEP-22 35/80

624 73980390 HEX HEAD SCREW M12X40-N HIGH TENSILE Nos. 87 1125 05-APR-18 35/80

625 73980419 CHEESE HD SCREW M6X30, COATING AS PER
MDTS 057

Nos. 54982 45781 21-AUG-18 35/80

626 73980511 CSK HD TAPPING SCREW ST 5.5X16-C, COATING
AS PER M

Nos. 33800 57460 10-DEC-21 35/80

627 73980778 CSK HD TAPPING SCREW ST 4.8X60-C, COATING
AS PER M

Nos. 2784 5907 18-AUG-17 35/80

628 73980870 HEX HEAD BOLT M10X40 HIGH TENSILE Nos. 14450 92346 26-JUL-23 35/80

629 73982064 HIGH TENSILE FASTENERS FOR DMC COACHES
OF BRAND DF

Set 4 89691 24-JUN-20 35/80

630 33510040 BRACKET COMPLETE Nos. 232 13293 06-NOV-20 38/80

631 33540147 PIANO HINGE 30MMx1000mm Nos. 751 55063 11-AUG-18 38/80

632 33550189 CLIP Nos. 814 15028 04-DEC-18 38/80

633 33556581 CLAMP Nos. 6320 165900 17-JUL-19 38/80

634 33557720 CROSS Nos. 46 68954 07-MAR-23 38/80

635 33571831 SET OF ALUMINIUM PILLAR ASSEMBLY FOR LHB
AC COMPOS

Set 31 677792 21-JAN-21 38/80

636 33573724 SET OF COVER FOR CHAIR PILLAR FOR LHB SCN
EOG COA

Set 29 51968 01-FEB-20 38/80

637 33574030 SET OF PILLAR ASSEMBLY FOR LHB AC COMP
(1+2) COACH

Set 1 20166 07-MAY-21 38/80

638 33574157 PILLAR ASSEMBLY Nos. 33 151936 24-MAR-23 38/80

639 33574509 SET OF PILLAR ASSEMBLY FOR AC 2 TIER (LHB)
TYPE CO

Set 1 35921 18-MAR-23 38/80

640 33574522 PILLAR ASSEMBLY Nos. 3 8483 07-FEB-22 38/80

641 33574595 PILLAR ASSLY Nos. 15 37800 07-FEB-22 38/80

642 33581230 CLAMP Nos. 2366 37312 10-AUG-18 38/80

643 33581496 MOULDED CLIP Nos. 2734 509041 13-NOV-18 38/80

644 33590035 NON-AC AREA CEILING (ATTENDANT,LINEN
ROOM & CORRID

Nos. 1 36825 02-FEB-23 38/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

27 of 28 02-08-2025, 09:28



645 33592925 SET OF COVER ANGLES FOR LHB SCN (MDTS 133
REV. 02)

Set 22 131117 09-AUG-18 38/80

646 33593024 NON AC AREA CEILING ARRGT. FOR LHB LWFAC
COACHES.I

Nos. 1 109136 02-FEB-23 38/80

647 33594569 HINGE COMPLETE Nos. 142 32042 26-MAR-19 38/80

648 33594776 DOOR PILLAR PANEL Nos. 449 171588 29-JUL-19 38/80

649 33595586 LAYOUT OF FLAT CEILING FOR LHB COMPOSITE
(AC2T+FAC

Set 13 1285447 03-FEB-21 38/80

650 33598800 CEILING GUARD ROOM MOUNTING OF LHB
POWER CAR (HUMS

Set 2 120215 04-FEB-20 38/80

651 33598836 COVER FOR OUTFLOW FOR TROUGH BELOW AC
UNIT MTG FOR

Nos. 204 10710 17-JAN-19 38/80

652 33599385 SUPPLY AND APPLICATION OF SET OF SS
LUGGAGE RACKS

Set 45 5915340 16-MAY-23 38/80

653 33610484 CLAMP FOR FLEXIBLE DUCTING Nos. 1357 33029 18-OCT-22 38/80

654 33612791 PIPE & SLEEVE FOR WASH BASIN Nos. 387 84264 20-JAN-21 38/80

655 33613084 HOSE COUPLING Nos. 1171 202992 04-DEC-18 38/80

656 33613345 CLAMP FOR COMPOSITE PIPE (16:20) Nos. 1749 18793 01-APR-22 38/80

657 33613692 HOSE COUPLING Nos. 1489 268351 04-DEC-18 38/80

658 33670730 HEX HEAD BOLT M8X35 STAINLESS STEEL Nos. 2500 10650 26-JUL-19 38/80

659 33670778 HEX SOCKET HEAD CAP SCREW M6X45 Nos. 2762 11524 23-JAN-20 38/80

660 33671436 THREAD ROLLING SCREW M M6X12-H Nos. 9000 200070 11-AUG-18 38/80

661 33671461 HEX SOCKET HEAD CAP SCREW M12X35
STAINLESS STEEL

Nos. 11800 142622 04-DEC-18 38/80

662 33671539 HEX SOCKET THIN HEAD CAP SCREW M5X20 Nos. 8000 37760 06-SEP-22 38/80

663 33672106 HEX HEAD SCREW M5X16 STAINLESS STEEL Nos. 46402 46293 28-MAR-23 38/80

664 33680012 INSERT Nos. 576 94098 18-JAN-22 38/80

665 33680061 INSERT Nos. 4844 324548 15-JAN-19 38/80

666 33680346 INSERT Nos. 1422 140142 15-JAN-22 38/80

667 33692233 SUPPLY & APPLICATION OF SET OF ROOF PANELS
IN LHB

Set 28 5499628 03-MAR-23 38/80

668 35982494 BRACKET Nos. 1302 15064 10-AUG-18 38/80

669 35982512 SET OF COVER PLATE FOR END WALL PANELLING
FOR LHB

Set 5 22965 04-FEB-21 38/80

670 35984260 CAGE NUT COMPLETE Nos. 3004 197753 08-FEB-19 38/80

SURPLUS ITEMS https://www.ireps.gov.in/fcgi/runfrm

28 of 28 02-08-2025, 09:28


